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0l ey’ + 5y +y* =0, y(0) = -2 |
2ey'=(y+4x)/(x-y) &R v=y/k)
03 ¢ 14y’ (xly — &) = 0 (87 : S RF - fEEEES exact)
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(D dx/dy =1/(y-x) (2) y°dx +x*dy = 0 (45/]NEH 5 53)

05ey"-2y'-3y=0

(a) FH Eaifsy A= Ara R - (6 73)
(b) £RHHHAE y(0) =3 B t M oo y(1) = 0 - (5 73)
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06 o v + 2y + 3y’ +2y =0
07 o x’y” — 5xy’ + 10y = 0, for x > 0

08 « # i Laplace Transform F(S)=L {f()} f(t) = e (9 43)

.09 ° 3k #i Inverse Laplace Transform fit)y=L" {FS)} 945
F(s) =1/ [(s-1)(s+1)s]

FHRE X =dx/dt, y'=dy/dt, x-y&Et R

10 x’-2x- y=t
y +5x+2y=3 (14 43)



